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Key Concept 9 REVIEW Period:

Target 9A: Prove that circles are similar.

Xy kY
1. Prove that © J with center (=6, 1) and rad1us@1s similar to © M with center (2,5) and radlu@ (1 point)
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2. Show the two given circles are similar by stating the necessary transformations from © B to ©® 0. (1 point)
® B: center (4, 6) radius@ O© 0: center (-3,8) radius
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3. When transforming circles, explain why the central angle is always preserved. (1 point)
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4. (O K is given below. O T is represented by (x — 4)? + (y + 5)> = 9. (3 points) rodius® ﬁ _ 5
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a) DRAW (O T on the coordinate plane.
b) Determine the TRANSLATION that would P N
have to be performed from © K to O T? 7 4 K
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c) Determine the SCALE FACTOR that would 7 N
have to be performed from © K to O T? 4 . \
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5. Given © Y with a central angle «Y = 15°and (O A with a corresponding central angle <4 = (2m — 9)°. Setup
an equation that models this situation and solve for m. (3 points)

luz\‘{ = :2

s
Z

—
M= 12

Target 9B: Identify and describe relationships among central angles, inscribed angles, radii, and chords.
Use the figure at the right to answer questions #6 - 8 where M is the center.

6. Identify an INSCRIBED ANGLE. (1 point)
Vertex on Circle

XAcHb

7. ldentify a CHORD. (1 point) . .
(line seguent w| ewndprints on chle)

8. Identify a MAJOR ARC. (1 point)
(greoter thewm 190°)

— ~ ~ N\
Ace  ABC, CAB, 0BCA

9. Angle E is an INSCRIBED ANGLE in the given circle. Determine the measure of CD. Explain the relationship
between an inscribed angle and its intercepted arc. (3 points)

N L]
e =292 2|5%°| :
Te inscribed O.\Ag\c 'S HALF +he Measure
of its wmtevrcepted arc. c
D

10. Angle N is a CENTRAL ANGLE in the given circle. Determine the measure of PO. Explain the relationship
between a central angle and its intercepted arc. (3 points)

N o
Po = (43
The Centrol angle is EQUA L TO +he

Messure of its intercepted arve.




Target 9C: Apply the formula for arc length and area of a sector of a circle and calculate using the radius and/or the
measure of the central angle.

11. Convertl205°[to radians. Radians = degrees - M (1 point)
Radians = 20‘5 - Il o 205
g0 = Ll (veducc...) =) ﬂ
| g0 36

12. A round pizza with a 22” diameter is cut into@congruent slices. What is the area of one slice/sector? (in
terms of 1) Area i qe = mr* (1 point)

Acvele = TT-11Z 3 12117
21 T
12 1 (divide by Hof shces)

A5e ctor =

13. Derive the formula for the arc length using the diagram. (1 point)

Angle = &€
3 radius

ro=5S]| v [s=re]

14. In © B, 0S is a diameter with length of 10, and m<0BA = 132° (3 points)

a) Draw © B with the given information.

1323 d =1

arclength _ central

b) Find the length of OA in terms of . Formula:

mdiameter  360°
. 132°
\OTT 3(90
300 (6A) = 1320TT
300 3L0
6A =\ U
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15. Calculate the area of the shaded sector with a central angle of 120°. (3 points) Formula: Aoy = 172 -%

Agctor = TEAZ . 120 — [920TT
\ 30 360
(reduces...)

Target 9D: Given the equation of the circle, use the method of completing the square to determine the coordinates
of the center and radius of the circle.

16. Use completing the square to find the center and radius of the circle. (1 point)

x%2+y24+10y—11=0 Center: (0,'5)
x?+y%+10y =11 . _
vadius: [36 = G
2+y2+10y+ 292 =11+ 25 36
_|°_§1;\
7

X%+ (\/-«-‘S)z = 30

17. Use completing the square to find the center and radius of the circle. (1 point)

x*—6x+y?—55=0 CCVI“'G?'- alo
x?—6x+y?=55 .
x*—6x+ 4 +y?2 =55+ 9 rodis: fo4 =

S .

(x=3)2+y?= b4

18. Use completing the square to find the center and radius of the circle. (1 point)

x?+y%2—8x—2y—8=0 Qen-l-er:(‘l.l)
x2—8x+y?—2y—-8=0 VOdlUS'.ﬁs: 5

x2—8x+y?—2y=38
2-8x+10 + y2—2y+ 1 =8+l +_|

G @ T
X=-4)%2 + (y-1)%2=25



19. Use completing the square to find the center and radius of the circle: x? + 8x + y? +\Z = (. (3 points)
-t -7

XZ+gx+llb _+y2 = -F+ 16
&
(x+4)"+y2=4

Cendter: (-4,0)
radius: (4 = 3

Center:("" ! O)

Radius: 3

+yZ

20. Use completing the square to find the center and radius of the circle: 2x + x? + 6y = 15 5\y< (3 points)
+\V2
X" +2x +V vV =

X2+2x+ L+ 2+ 0 = |
%)xzﬁ | Zl)\/z;'i 15+1 +9_

(x+|)7‘ + (y +3)z= 25
\cev\-l-er: (—1 = 3)

o — Center.(" | — 3 2
Radius: 5




ADVANCED (10 possible points)

Use the figure to the right to answer the questions that follow for © H.

1. Find XWZ.

€0° (diau¢+c r)

Circle H

2. Solve for a. )
(supplementary angles
1g0°-53°=[123° |

3. Find WX.

l 53" | (central ongle givew)

4. Solve for b.

1I90-123-2%F=|20

5. Solve for c.

+(53-12) = (205°]

—

6. Find YW.

4\°+123° = ‘\(o%b ‘
7. Find YZ.

o _ . _ ®

53°-12° = (417
8. Find ZW.

\23° |
9. Find YX.

2°+129° =\134° ]
10. Find YXW.

12° +123°+ 53° = [192°




